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Questionl:-Which of the following statement/ statements about the Punnapra -
Vayalar Agitation is / are correct?
i. It was a violent confrontation between the British police and the Travancore
State

Congress workers.
ii. Itresulted in the establishment of the first Communist government of India.
iii. Against to turn Travancore into an independent state with American model.
iv. It was supported by the Indian National Congress as a part of the Quit India
Movement.
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A:-Only i and iii
FeR0 i R i
B:-Only iii and iv
FeRO iii o iv
C:-Only iii
FEIO i
D:-Only i and ii
FeRO | B i
Correct Answer:- Option-C

Question2:-Which of the following statements is / are correct about the Kallumala
agitation in Kerala?

i. The Kallumala agitation was for the right to wear any ornaments like others

ii. It was held at Perinad in Kollam district

iii. The agitation was led by the dheevara community
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i, BQOROO B0TBRCOTR) VS0T03 0ddoy)ue eaz,:idsomfﬁb ORI &:maﬁ 302D,
ii. 3o BBl BOTE® VY BEO.
iii. Q30 (Dheevara) 3300090003 Be333¢) s0tRcOR BB,

A:-Only i, ii and iii
FeR0 i, ii o i

B:-Only i and ii
B0 i ) i

C:-Only i and iii
FeR0 i o i

D:-Only ii and iii
FeRO i B i

Correct Answer:- Option-B

Question3:-Which of the following pair is NOT correctly matched?
8% NI 03003 22eeB0odow 003N BROVTAIINIFHAY?

A:-A. Indian Opinion 1. Mahatma Gandhi
A, a08c03 90 1. dam&m@mo@c

B:-B. Kesari 2. Balagangadhara Tilak
B. 330 2.  oononto 8oz

C:-C. Jai Hind 3. Subhash Chandra Bose
C. % &on° 3. ROYIE 2307, W’

D:-D. Chittagong Armoury Raid 4. Bhagat Singh
D. 33neont es0e 0 Q’jcss 4, J¥ns® yoné

Correct Answer:- Option-D
Question4:-Match the following personalities of 1857 revolt.

A. General Hugh Rose 1. Recapture of Delhi

B. John Nicholson 2. Commander in Chief of Central India
C. Khan Bahadur Khan 3. Rai Bareli

D. Maulavi Ahmadulla 4. Awadh

185730 Bdorfod 3¥NS ?_%ﬁ%”ﬁb BRON.

A. %=ICe BON® BQRCL® 1. Bz I0OI3

B. 2500° d&ecen® 2. NopeF Q0BOIVNE TRIW0BO® Yn° e
C. o0° WHZPPO® Vo’ 3. ©To0d® w3Bed

D. SI5%0 eagmgp 4., OI°



Correct Answer:- Option-B
Question5:-Match the following.

A. Kandam becha Kottu 1. J.C. Daniel
B. Vigathakumaran 2. K. K. Arur
C. Balan 3.  First Malayalam colour movie
D. Neelakkuyil 4. Satyan
6@9’ﬂﬁ§)ﬁ@§\) BROR WTB0D.
A.  Boo® zj’g aifagi) 1. 232 deodoer
B. An3daoomt 2. 3.3 e980°
C. aoonf 3. [60 O30 JF U,
D (Oeogi)aa)eﬁ 4. Sga‘
A:-1,2, 3,4
1,2,3,4
B:-2,3,4,1
2,3,4,1
C:-2,1,3,4
2,1,3,4
D:-3,1,2,4
3,1,2,4

Correct Answer:- Option-D

Question6:-Assertion A : The Reign of Terror was a period during the French
Revolution characterized by extreme violence and mass executions.

Reason R : The Reign of Terror was initiated to eliminate counter-revolutionaries and
protect the newly established Republic.
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A:-Both A and R are true, and R is the correct explanation of A.
A 353> R 0@ 30, 03> R, A 8 3003500 DSCF0350NT

B:-Both A and R are true, but R is not the correct explanation of A.
A 303> R 0Bs 70, B0 R, A 8 3003006 STF00Q

C:-A is true, but R is false
A 30 33, R 30—-’3

D:-A is false, but R is true
A 353 33, R 30

Correct Answer:- Option-A

Question7:-Match the following dance forms with their unique features :

A. Kathakali 1. Enchanting dance with gentle, flowing movements
B. Theyyam 2. Martial art form known for its agility and combat
techniques

C. Mohiniyattam 3. Ritualistic dance form Invoking deities

D. Kalaripayattu 4. Classical dance-drama with elaborate makeup and
costumes
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B. :s’ogoo 2. INRAFO® ©t5F FTIO BT WITIBIIT B0 03007 o riert
BICIN203T9NTS

C. dJaeéo&)Qimego 3. BINET ag):g OSD dewé’my’gp Gaas‘()zb@do

D. 3¥0x0doe0 4. dng0een 3065t ° P SeRzlwondoodn B30l Y3 -otss

A-4,2,1,3
4,2,1,3

B:-1, 3,4, 2
4,2

C:-4,1,3,2
4,1, 3,2
D:-4
2

’

,3,1,2
4I3I

=

Correct Answer:- Option-D

Question8:-Which of the following statements is/are incorrect regarding the
Olympics?
i. The Olympic Flame is lit in the host city and then carried to the opening
ceremony of the

Games.
ii. Jesse Owens won four gold medals at the 1936 Berlin Olympics, which took
place during

World War IlI.
iii. The first modern Olympic Games were held in Paris, France in 1896.



2Do2T¢ 18 FoW RT3 B8 FYNT 03503 BEYF/BCYTNYD STNT?
i, es3gecod BRoEQ wdods® oG W¥NKeRNIZE [03) F030 §eEaBALKS GLTLITS
5&)3{502,;53lé
uodoemrb@id
i, 1936 O WOFR® 202" BY 283 Ledn? | T80 TogL IFTNE PR, R0 SOBEIe HFHR0T
A000TY BWOBD
iii. 1896 3Q, o0’ 3 H90x° B S8 8EIIT 2IoIF §eEBALRT BEIL0DI)
A:-i, i, i
i, i, i

B:-i, i
i, i

C:-Only iii
i 003

Correct Answer:- Option-A

Question9:-A. Kerala Panineeyam 1. Political Novel
B. Parappuram 2. Malayalam Grammar
C. Anjadikal 3. Detective Novel
D. Bhaskaramenon 4. Bala Sahityam
A. BCOY Docddeoio 1. oDomdeadd sasowd
B. a’o’@’do 2. Sooodrego mfvsa
C. eowmdref 3. T3ewad ZEowd
D. waj—;’o‘ Soedwt 4. WO méogo
A-l,2, 3,4
1,2,3,4
B:-2,1,4,3
2,1,4,3
C-2,1,3,4
2,1,3,4
D:-3,2,1,4
3,2,1,4

Correct Answer:- Option-B

Question10:-Which of the following was a major theme of the United Nations
General Assembly's 78th session in 20237
202309 &gsogab mmg 33030 781e 9RNEBTE SHB0D DR 0300HBO



A:-Nuclear disarmament
JOBI0ED K)ggewga

B:-Rebuilding trust and reigniting global solidarity
é’oa%ﬁdgo VO DOFRB R0 25oNST w{jé&igo @Kﬁdoz%eﬁﬁﬂm@ﬁo@do

C:-The refugee crisis in Europe
03Bt B8 V0830 233?633

D:-Space exploration
mmpé 2030033

Correct Answer:- Option-B

Questionll:-The concept of the 'Great Divide' in Indian geography is often used to
demarcate regions with distinct climatic, hydrological, and ecological
characteristics. Which of the following factors, apart from the Vindhyan Range, has
significantly influenced the formation and evolution of this divide?

Pa08e0d) 13R1tRedE30IT (et B3 5663601@3 mmgmﬁ é:)ng BDNIBINT, WO
030 FOFC rogeegearideodt g ci’eémfgo RUCLEREL WFRUNIZT. &)o?a‘éeeﬁod) BTN B8
BYNT 03093 ©038)) B8 MPHR0I TR B0ZO TG BoeeS NPOPIHE N T DedT?

A:-The Deccan Trap volcanic activity
WI° b3° oeRBVD 23e[EIT

B:-The Himalayan orogeny
SR790300° 23230

C:-The ancient Tethys Sea
SDIANVEX AR )

D:-The Quarternary glaciations
Tob3mE D riedodean

Correct Answer:- Option-A

Questionl2:-The Indian monsoon is a complex system influenced by various factors.
Which of the following teleconnections, apart from the El Nino-Southern Oscillation
(ENSO), significantly impacts the Indian monsoon rainfall?

%R03e00 SPFAT® NG ©0BNT0E FIIDE Fodeeor FIZAIPNT. 20° AdRC-ZTVF
$25eED° (ENSO) 800205882 3¢NE 03593 BRSR0STE Ned Laddeody Srgem® Sodady Soed
RROVEHE oM BDToRD DETOZT?

A:-The Arctic Oscillation
eagra“ eseleam’

B:-The North Atlantic Oscillation
BUZC 9E390835° LSRN

C:-The Indian Ocean Dipole (IOD)
&0BS SOFBoFINT aacga& (10D)



D:-All of the above
S0edB HO

Correct Answer:- Option-D

Questionl13:-The laterite soils of Kerala exhibit distinct morphological
characteristics. Which of the following pedogenic processes, in addition to
desiccation and contraction - expansion cycles, contributes significantly to the
formation of laterite profiles?

3OV %Jaésdeéss S0gNED IPT TRBDZITE roLaogenvs SEERIZA. Awedessn SO
R0BRCUR - HFOT WINY 2R3N FINT 0300z BB eTE FF0doned %Eéd(%éss JRFO° 1Y 3w
RRovezme N FEoR AeEoZ:s?

A:-llluviation of clay minerals
S0eIE DAWNY 'a%»:bo&)eéa‘

B:-Lessivage of iron and aluminum oxides
T SO ea%x/a&o&)woo e53 3° ri@e’ﬁb TR IIBOF)EO

C:-Salinization
ORF03

D:-Podzolization
mg&me%ﬁcéa‘

Correct Answer:- Option-B

Question14:-The Western Ghats of Kerala are a biodiversity hotspot. Which of the
following geological periods is considered crucial for the evolution of the unique
flora and fauna of the region?

FOYR w§m w’édﬁ%b B3, ::ms Bobs® HaLs® NG, B Iead é:)é:’a 33 R0 FeINY &)6"656 FINS

Q3o w’ariface.?ﬁ eawam’ab K)—aFodoGﬁodo R0OnedRenOIZL?

A:-Cretaceous
é&i@abse

B:-Paleogene
maejoifaezﬁa‘

C:-Neogene
Q03 CWRE

D:-Quaternary
F%ésa*)?@

Correct Answer:- Option-B

Question15:-The onset and withdrawal of the Indian monsoon are influenced by
various factors. Which of the following atmospheric phenomena, apart from the Jet
Stream, plays a crucial role in the monsoon cycle?

303€03) [IOTAD® B 50023 [0 &oér?ﬁoéﬁgoaﬁm DG 903NY0B & Iod3oNCIZT. 2es®

Qe esab BATBIR B FYNT 0300 2393930 €03 &%ﬁéﬁ&rﬁ%’o BPRE° FRY AsoF 03T
wéﬁ(‘\b 59 ROZeS?



A:-The Intertropical Convergene Zone (ITCZ)
QOLIT® #39€aTO° TFYUE D Tyeen® (ITCZ)

B:-The Tibetan Anticylone
Q £323830300° Bo&ﬁdi@ga‘

C:-The Indian Ocean Low Pressure System
%000 BVHIRANTT TR WIER ?dé’

D:-All of the Above
30eOS DY

Correct Answer:- Option-D

Questionl6:-The Western Ghats are characterized by distinct altitudinal zones, each
with its unique ecological characteristics. Which of the following altitudinal zones is
primarily associated with the cultivation of Cardamom in Kerala?

ééaab PeIed :ongm DICH IONLD mwoﬁwﬁqfﬁb BP0V, F303000 BT &éq—-’eB{
Silere] mmegeorﬁ@.fﬁb BP0V, FYNT 000 HICH IV FyBFeTDN FTYE S &)O%
32030001} 302 0PATI?

A:-Lowlands
3;\13 @deéﬁ%

B:-Midlands
AT 0T
?5 nN

C:-High ranges
URS Zeedngd
=T

D:-Nilgiri plateau
QeOND B2
D
Correct Answer:- Option-B

Question17:-Which of the following tax is not subsumed with GST?
B FYNT 033 30130300 GST adeodnt zo%frm%fo@ag?

A:-Excise duty
eRITIO ROOT

B:-Service Tax
29 301

C:-Basic Customs Duty
SR 63&23306

D:-Purchase Tax
DOeD 301

Correct Answer:- Option-C

Question18:-A company hires regular services mostly from external sources or from
other countries is termed as :



20830 FOBR0300 A0 ﬁea‘s’ﬁejgb éuauﬁ m? SRONYE WP Y30 Be3nYor
SeQABHLOIZT.

A:-Outsourcing
BRTTST (93)e3° BRCAE ONF)

B:-Privatisation
392NCTT 9

C:-Offshoring
B3 ©23030

D:-Disinvestment
DRI &oéﬁdoé&g’o&)ﬁ

Correct Answer:- Option-A

Question19:-Which of the following is an example of Zaid Crops?
FYNVIHNLD 0o chg}ws WSNRIR YVHBTF0350NS?

A:-Barley
W

B:-Watermelon
FQONRB

C:-Sugarcane
6‘%5)0

D:-Turmeric
9038

Correct Answer:- Option-B

Question20:-Which one of the following is not an example of ferrous metallic
minerals?
FYNVIHNF) 03093)B0 FO&° Beede0dd DAWNYN YVWIBO T 9Y?

A:-lron Ore
ﬁzi’gdeacd (SlaeN)

B:-Chromite
B C3),e5°

C:-Bauxite
m%és“

D:-Manganese
SRPNREx®

Correct Answer:- Option-C

Question21:-Which of the following is the refinancing financial institutions in India?
8% FINTYNYY 0300330 03T YIR SITIBEITORD BEITIRD FOZTITONES?

A:-Tourism Finance Corporation of India



830030 %mmfv TORICE BCRN® e3p° QOBO3TD

B:-EXIM Bank
EXIM 23905°

C:-Industrial Development Bank of India
QORAHOO* BIOD® B0083° ‘&D?SOEG e35° QO&B03T

D:-National Housing Bank (NHB)
mzf‘aiaieﬁ DO méos"' (NHB)

Correct Answer:- Option-D

Question22:-'Vocal for local' initiative under Aspirational blocks Programme is
launched by:
SBIIF20ZOD 2397 11¥ T20DEFRID 0BG 'FPeT Fo0° ST GURTRI[TO B30T

530 0BT,

A:-MGNREG
MGNREG

B:-NITI Aayog
NITI esodeent

C:-UNICEF
UNICEF

D:-PMKVY
PMKVY

Correct Answer:- Option-B

Question23:-Consider the following statement about Union Public Service
Commission and select the correct option given below.
i.  The Chairman and other members of the Union Public Service Commission shall
be

appointed, by the President
ii. They shall hold office for a term of six years or 65 years of age, whichever is
earlier.
iii. They can be removed by the President on the advice of the Council of ministers
headed

by the Prime Minister.
iv. The Commission shall present the annual report to the President of India

030RAN0P* FYF® FDCF A TARR® TV B8 FYNT Beddadgo B0 S0P I ded s
3D0dE 0300y 302,
. aduedodon® deessesse esadeent wed sber® O3 |30 FFFOT escggdo NeB0T BaEISYT.
i, 93300 500 IRETY PR 0 65 JIENY IR VHTOITPo BU0RTCLFYT. YEIY
03000

SBIVTRC 930.
i, SR B0Q8 VeI [0ed BooBer ZOBOL Boedn eazzgsigdo 30T IrBIBITBIB.
iv.  sodeensd) Sedes S0B0LTY 03T CoFBINYI FPZIRRIIT.



B:-Only (i, ii & iii)

(i, ii & iii) S8

C:-Only (i, ii, & iv)
(i, it & iv) 2093,

D:-All the above (i, ii, iii & iv)
S0V dOIP (i, i, iii & iv)

Correct Answer:- Option-C

Question24:-Which of the following is incorrect regarding the election of the
President of India?
i. Heis indirectly elected by an electoral College
ii. The electoral college consists of the members of Parliament and Legislative
Assemblies

of States
iii. Proportional representation by means of single transferable vote is the method
used
iv. Article 56 provides for uniformity in the scale of representation of state in the
elcection

P03E ToF@B3NY 30878 F0w 0303 B FNTI)NYY 030030 IoNas.

[ 09300 DR Foeeridon BTeegaN 30303507390,

i, WIS T, F0RZD [ oa%smf Doa%a0N APYNY mgd@ WYPORB.

iii. 2,083¢ SMoFrIes BB BTN FOTE BUOVT B BIEONINIE @B&cgdﬁb WIS
APIVDINT.

iv. 56e oRR@S) wWopeResodQ 0orts @éﬁ)cgd BRNETY HTCADI0T) wWBNEIZT.

A:-Only (i & iv)
(ii & iv) S

B:-only (i, ii & iii)
(i, it & iii) S8

C:-Only (i & ii)
(i & i) S093,

D:-All the above (i, ii, iii & iv)
S0V QI (i, i, iii & iv)

Correct Answer:- Option-A

Question25:-Which of the following are correct regarding 52nd Constitutional
Amendment Act of 19857

i. Itis related to anti-defection law

ii. Inserted 10th Schedule in the Constitution

iii. Question of defection is decided by the presiding officer of the house



iv. An independent member is free to join a political party within six months from
the date
he took his office.

1985 T 52¢ 7200507 3ZoBH F2030rt 302 0P 03 B FYNTI)NeY 03B FO0IPNT?
i 96O BF203C HTBeY TR F0W0PT.
ii. R0FTBY 103¢ esaioﬁfe)z&abﬁb 2C0RNG.
iii. =Ze030 ggosoga alA] earggdo VG OROT.
V. 2 §30§ ﬁdga’n 3§ e9Q)TIT F&HAIBSHOE DPVI0TROT €380 30NLSNRYT Tazsdeodd 33@%@6&)
S0ZNCIZTIN.
A:-Only i, iii & iv
i, il & iv S5eg
B:-Only i, ii & iii
i, i & i Roog

D:-All of the above i, ii, iii & iv
R0V QIR i, i, il & iv

Correct Answer:- Option-D

Question26:-Consider the following statement about Money Bill

i. Article 110 deals with money bill

ii. Money bill can be introduced by either house of Parliament

iii. The speaker decides whether a bill is money bill or not

iv. Rajya Sabha has to return the bill within 14 days with recommendations
Which of the following statements given above is/are correct?

BEAT BORAT W1 Tt BINT ée@éabﬁb 20N

i. e383e30f 110 3808 S03BRSR0DN gwaazbgd.

ii. ®ed :nﬁJazSojogo F0RSW OB AEVNK FOOBTTBIRO.

iii. mz’uadodggp BEIT BORPT0IC D AQSC aozoowgp ATO® QG DRO3YT,
iv. oagmjoin 8x00:0n¢e001 14 DINSeer ab:’uadobgo $0Q00NZLICR.
230083 QeRTORN B8 YN 03003 BeYd/BeYFNLd 3003INS?

A:-Only i, ii & iv

i, i & iv 3098
B:-Only i, iii & iv
i, il & iv B59g
C:-Only iii & iv
i & iv S098,

D:-All the above i, ii, iii & iv



R0V QI i, i, iii & iv

Correct Answer:- Option-B

Question27:-Consider the following statement
i. The right to issue writs for the enforcement is provided in Article 32 and 226 of
the
Constitution.

ii. Under Article 32 Supreme Court can issue writs for the enforcement of
fundamental

rights and for the redressal of any injury or any illegality arising out of ordinary
law.
iii. Under Article 226 High Court issues writs only for the enforcement of
fundamental rights
iv. The right under Article 32 can be suspended only during the proclamation of
emergency

laid down by the Constitution under Article 359.
Which of the statement is/are incorrect?

8 YN Bweddadgo BOned.
i 2500meN O&s° NYRH VO BFFY F0DPIIT 32 S0P 2268¢ VOYBTY 2.03NFeDNGS.
ii.  et3ref 320 0B0LY Rgeo Bocts’s Fpeled FFoMY 20N B mmg TRV
&V0E3N

adn)cse Mool eFDe adnR)ce WTRONY BOBITTN 0t NYFL AeBTB.
lii. est3rEe® 226 O 0B0LY BBects’e Spered TFONY 2590MeN S8 Des° NYeh AEIZS
iv. est3F5e® 32 O 0RB0LYE BTFO F0IFRD) $tdeFer 359 G 0B0LY HPAT D3>F BDA30D
FRCRTO

3300003 Q) B398, 9BIOVBON YR TBITO.
035033 3HCYT/HBCYBTNYD SNTI?

A:-Only (ii & iii)

(ii & iii) Soeg,

B:-Only (iii & iv)
(iii & iv) @098,

C:-Only (i & iv)
(i & iv) S093,

D:-Only (i & ii)
(i & ii) I3

Correct Answer:- Option-A

Question28:-Article 20 provides protection from conviction for offence in certain
aspects like the right against

i. Ex post facto laws

ii. Double jeopardy

iii. Preventive Detention

iv. Self-incrimination



20¢ ORBOYB) 9[0G H0IFT a&mfo:é& 3O3) WOoBNYY eH0FTN 830%00E TFES ABIZE.
I T Boca? wf.rae wmmﬁ@b

ii. B WodeHRE

iii. 3BMEOI wops

iv. godoo BRCRITBRCIES

A:-Only i &iv
i & iv B098

B:-Only i, iii & iv

i, il & iv 3508

C:-Only i, ii &iv
i, i & iv 3998

D:-All the above i, ii, ili & iv
R0V QI i, i, il & iv

Correct Answer:- Option-C

Question29:-Which of the following are the recommendations of L.M. Singhvi
Committee?

i. Constitutional recognition of Panchayati Raj Institutions.

ii. Official participation of political parties at all levels of Panchayat elections
iii. Establishment of Nyaya Panchayat

iv. Establishment of Judicial tribunals in each state

8% FYNTIH)NYS 030930 D D3¢, ,oooy 208030 8x80RONKD?

i. 003 TSt NONﬁ%” FOODPINT :uaai:s’

ii. =0wW0dS® z&omsmmf DY BOoINYY oazs%eojo BINY 0TI INBHRONB.
iii. mzsoéo 0300303 m@éa"

iv. 3 0agmg) mypdseon mYEIBO0BYNY VT

A:-Only i, ii & iv
T30 , ii & iv

B:-Only i, iii & iv

Fe3 i, iii & iv
C:-Only ii, iii & iv
FEIO i, ii & iv
D:-Only i, ii & iii
Fe3 i, iii & i

Correct Answer:- Option-B

Question30:-Which of the following committees are constituted by the Constituent
Assembly to report on the various Substantive aspects of the Constitution?



i. Union Powers Committee

ii. Drafting Committee

iii. Provincial Constitution Committee

iv. Committee on Negotiation with States

F0DPIVE DG SR ©03NY Wi FCY SBINBLV F0IPIT 7230000 B8 FENT 0350s3 33)33ri%”§o
T23xeNa?

. 0RVOD® DI E TS

ii. BOBO A3

iii. $908€030 FONPIT® FAS

iv. Oagsri%aoaﬁ SIB0TI A3

A:-Only i, iii & iv
i, i, & iv 3508

C:-Only i, ii & iii
i, i & iii S508

D:-All the above i, ii, iii & iv
0DV QIR i, i, il & iv

Correct Answer:- Option-D

Question31:-Which of the following statement are true about Saksham App?
i. Launched by the State Election Commission, Kerala

ii. To make elections more accessible and inclusive

iii. Ensuring the active participation of PWDs in the election process

iv. Can be used only by the existing PWD voters

AR 2° Wik T8 FYNT 0droxs BePBTIVO 307
. D% hmeEme esodeen, ITCIRT FIToRROINT.
ii. Z&deﬁmfgb B0 BBe8H0 oD uvm%pdoé’ SIE .
i, WomeRme FFodad PWD ne 330k zpaﬁwéozbg)ﬁobgo D3I BRII)IO.
iv. ©333P00s PWD S030a000 3508 W ¥RE0waNGs.
A:-Only i, iii & iv
i, il & iv B598
B:-Only i & iii
i & iii S508
C:-Only ii & iii
i & i &093,
D:-All of the above i, ii, iii & iv
R0V dQJP i, i, iii & iv

Correct Answer:- Option-C



Question32:-Who are the permanent invitees of the Kerala State Planning Board?
i. Chairman, State Finance Commission

ii. Chief Secretary, Government of Kerala

iii. Additional Chief Secretary, Revenue Department, Govt. of Kerala

iv. Additional Chief Secretary, Finance Department, Govt. of Kerala

S0 0% 03 e SV0BYP0I 390300 Bm§360 0300007

i. escggdo, oo% BT es0deen

i :m%) T0FRBE, FOY 3T

iii. égma :m%) T0OFBBE, FoWa0I QLA3, FCOY 3T T
iv. 5?&&358 :w%) FO0EFTBE, BEITOR) QL3, FCOY 1T T

A:-Only i & iii
i & iii &508

B:-Only ii & iv
il & iv &008,

C:-Only ii & iii
3098 ii & i

D:-Only i & iv
i & iv 2098,

Correct Answer:- Option-B

Question33:-Which of the following statement is true about the Kerala State
Disaster Management Authority

i. Itis a statutory non autonomous body

ii. Governor is the Chairman

iii. Chief Minister is the Chief Executive Officer

iv. "Towards a safer state" is the motto

30 Dogg MDD ABE BT PHTIOT B0 8 F¥NI 03003 Beddodn FDodIeNKS?
. 90> ZARWG F903ZI orizzaNds.

ii. oazgmexﬁo @ngaﬂgad

i, Bghe31d0d0 B F0dF VevF BT BHTIDO3IRNGIRT.

iv. "B0g3 0ogs BB H0IIRE Ge0ddNG.

A:-Only i & iv
R0 i & iv

B:-Only i & iii
Fe3® i & iii

C:-Only i &ii
Fe3® i & i

D:-Only iii & iv
FeIO iii & iv



Correct Answer:- Option-A

Question34:-Which of the following categories of land were exempted from ceiling
on holdings under the Kerala land Reforms Act 19637

(i) Kayal padasekarams of Kuttanand

(i) Commercial sites

(iii) Private forests

(iv) Plantations of Coffee, tea, rubber, cocoa, cardamom etc.

B0 230 RORPIOT Fo0MTW 1963 T 9B HEISINY S0eDT 2eDort Qo FENS 0303
INET 23RN Q08 VB IINTS?

(i) BTG B 520LO° TAEZCTTONed

(ii) meﬁg Soeaned

(iii) ao=n eadez?ri@e’o

(iv) Base, E3¢, TYOT®, BRCBRC, mo§ 'aaaz@ 3ce3ned

A:-Only i & iv
R0 i & iv

B:-Only i &iii
Fe30 i & iii

C:-Only i &ii
FeS0 i & i

D:-All of the above i, ii, iii & iv
R0V dQJP i, i, iii & iv

Correct Answer:- Option-D

Question35:-Consider the following statement about the Kerala State Election
Commission :

i. Constituted under Article 243K and 243ZA of the Constitution

ii. Appointed by the Governor

iii. Conduct elections to state legislatures

iv. Came into existence on 3rd December 1993

Which of the following is/are correct?

3O 0% WO 303eenE O T8 FINT ée«:?ﬁodoﬁb 20ned.
i. R0DPIRE ese3rze® 243K 030 243ZA ©9B303E) TReNG.

ii. oagm@aow BeTIIRORT.

iii. 0% DoasaonnYn wmdﬁmfgo BBOIJO.

iv. 38¢ B33020° 1993 Toro @f@g@uo&&.

8% FINSI)NYY 030030 #0/x003IeNS?

A:-Only i, ii &iv
FeIO i, ii & iv

B:-Only i, ii &iii
FeIo i, ii & iii



C:-Only i & ii
Fe® i & i

Correct Answer:- Option-A

Question36:-Which of the following are correct regarding E-sevanam?
i. A centralized online service portal for all government departments
ii. Owned by Kerala State IT Mission

iii. Its mobile version is known as m-sevanam

iv. Itis Malayalam enabled

Q-3e301 B0 0PI 03 B FLNVIHNYY 0drec)B0 $O03IPNTS?

i DY 3TFD RLPANIN FeoReg3 un® gt Jewo Fpetsr of
ii. 0¥ Doz k3 QAT WEIBEY.
iii. 900 Serde® B3 3adgy 2o-FesBo 2060 FEabeRNRIZE,
iv. 960 Sooodrevo 3303011eYITNG.
A:-Only i, iii & iv
i, il & iv Roeg
B:-Only i, ii & iii
i, i & iii 098,
C:-Only ii & iii
il & iii &993,
D:-All of the above i, ii, iii & iv
R0V QI i, i, iii & iv
Correct Answer:- Option-D

Question37:-Consider the following statement about Navajeevan Project
i. Implemented by the Labour Department of Kerala
ii. Provides means of livelihood to those in the 50-65 age group who have
registered in the
employment exchange and could not find job
iii. Interest free loans to start self-employment ventures
iv. Individual income should not exceed 1.5 lakhs
Which of the following statements are true?
V33D adeczssodd zorj\ 88 NS éc@%aﬁogb 20ned.

i, B0YE 3T Q03309008 250 PFRUING.
i, eudaen HAB>0d Feog B BRcorand FOF ANG 50-65 BadATZON HeSr el
W NROZT.
iii. 30300 VBAEN NUFRINYRD FITOPRLD WEBT&HS FOTIE.
] P =% =)
iv. 503088 ew00ds) 1.5 oFRvdy HoeSwe0n0.
8% BeFINYY 0330 30?

A:-Only i & iv



i & iv 33,

B:-Only i, ii & iii
i, i & il S508

C:-Only ii, iii & iv
i, il & iv &09g,

D:-All of the above |, ii, iii & iv
R0V dQ[P i, i, iii & iv

Correct Answer:- Option-B
Question38:-Pacinnian Corpuscles are concerned with
mé%&‘)*odoas mpge; i} 02 0RATORYEO

A:-Touch reception
£323° 6:3’?&‘

B:-Pressure reception
&3o° 6£§6‘

C:-Temperature reception
e3ox3ee30° 8ﬁ§>6‘

D:-Pain reception
SHeow® 65?6‘

Correct Answer:- Option-B
Question39:-The inability to absorb which vitamin causes Pernicious Anemia?
03093 DE3VN® LCLIE TINTC BRCBT HINTITT TFHCRIIT T £9:3070ZT3?

A:-Vitamin C
QL3N 2

B:-Vitamin A
Qe D

C:-Vitamin B12
Qe3P D12

D:-Vitamin K
QeI T

Correct Answer:- Option-C

Question40:-Which among the following disease(s) is/are caused by virus
i. Malaria

ii. Dengue

iii. Chickenpox

8% YN F200SHYY 03B 507 V0B GVoE5INOIZTS?

i. Soe3edadse

ii. @donw
)



i, 238° o5’

A:-Only i
| 2098,

B:-Only i &ii
i & i S098,

C:-All the above i, ii & iii
R0eDT QI |, i & iii
D:-Only ii & iii
i & i 093,
Correct Answer:- Option-D
Question41:-The Ozone layer provides protection against
LBRER® FBTF) 035Z)B T, A0XFN TFE ABIZE?

A:-Ultra violet radiation
Ne0Ya3e3 DIV

B:-Infrared radiation
29371303) DI0 €9

C:-Gamma rays
MORJ9 30 LN

D:-Acid rain
3530 0%
Correct Answer:- Option-A

Question42:-The Nobel Prize in Physiology / Medicine 2023 was awarded for the
discovery on:
2023 T 30073 /P aERQ decelvr $3300080 0dns 8dmPTN A@0?

A:-Development of effective mRNA vaccine against COVID-19
COVID-19 003 3055030500 MRNA ©23 eaz;)wd&o

B:-Ancient DNA and human evolution
R923e8 DNA 302 S350083 J5er

C:-Identification of a novel Hepatitis C virus
SReI° BLed 3¢ 2 T © 1ICOSRODT

D:-Cancer therapy by inhibition of negative immune regulation
VB003T %8080 Q003 LIXTTY 80 0D ST TR0 333

& v ok 4 Q Y ~N

Correct Answer:- Option-A
Question43:-Which of the following phenomenon is not exhibited by sound waves?
88 FYND 03003 &%Smaai@ g&) 300nnYos FBFRQBIDVY?

A:-refraction
BN NADY



B:-polarization
g)é:)eﬁdsa

C:-diffraction
AI3ES

D:-interference
CIACH

Correct Answer:- Option-B
Question44:-Mass of an object on earth is 10kg. What will be its weight on moon?
G000 S0edN ST ZF0e8 10 3.23. w30@ W 3oedS ET 30T ago?

A:-98N
98N

B:-588N
588N

C:-Less than 20N
20N Ao3 3B

D:-No weight
3RTIY

Correct Answer:- Option-C
Question45:-Which of the following statement is correct?
B FYNT 0300 BePFNLd 30030NS?

A:-X-rays have higher frequency than radio waves
-0 eaned Te@odsee SconrnieNos éz&gﬁ 8333?(“\55?3 BROWTOZS

B:-Visible light has higher energy than ultraviolet rays
ee230 WU Se0vaded 0 congNod éz?{p éfsoodogb BR0RTOZTI

C:-Microwaves have shorter wavelength than infrared rays
d%igeﬁea‘ ned 98rioxm) 30eNYN03 TR womowdgb BSOTOIZI

D:-Entire electromagnetic spectrum has same energy but different
wavelengths
RORE &zgo@&oéeodo SREREIOR) WOTC é§odo§u BP0V BT :Dzi')g womoédﬁ@e’gu

BT,

Correct Answer:- Option-A

Question46:-The Reusable Launch Vehicle (RLV LEX-03) landing experiment was
conduct by ISRO on June 23, 2024 by releasing the vehicle at what altitude?
SOV YT RINBE BOVIE VTR wodm (RLV LEX-03) %mo@one g’ojai/acridgo ISRO Zent

23, 2024 $ono 0= 23069 m&aﬁdﬁb ABEINEB [INEIOD SONROT L3307

A:-14.5 km
14.5 3.Qoe.

B:-41.5 km



41.5 3.2oc.

C:-4.5 km
4.5 3.2oe.

D:-1.45 km
1.45 3.Qoe.

Correct Answer:- Option-C

Question47:-The temperature at which a real gas obeys ideal gas laws over a wide
range of pressure is
% O00) HZO D9R0D 2IFFY BWIE VIO AOLBONTRD TR FIBBIND

A:-Critical Pressure
N QT 3@

B:-Boyle Temperature
239030° FoDBION

C:-Inversion Temperature
D3RR IoBRIOD

D:-Reduced Temperature
TR0 FoBIIO®
Correct Answer:- Option-B

Question48:-Complexes of which of the following metals are used in the treatment
of rheumatoid arthritis?
20R3R w330 FYNT 0353 Secwnie 306@99?“@.@3 WFRNRIZT?

A:-Gold
(AT
o

B:-Ruthenium
oOGeR 0300

C:-lron
3
(A

D:-Copper
RG]
—/
Correct Answer:- Option-A

Question49:-Which is the element present in the biomolecule carbonic anhydrase?
BT 980 Toedece AT B est BG0IS ©908 035:3E0?

A:-Fe
Fe

B:-Zn
Zn

C:-Co

Co



D:-Mn
Mn

Correct Answer:- Option-B
Question50:-Who is the present Solicitor General of India in 20247
202439 39030 $308 F9D230° BHO O 0359807

A:-Indira Jaisingh
QOQTD B A0MN°

B:-R. Venkataramani
e30°. 50TV

C:-Tushar Mehta
30&0°¢ 53@

D:-Chanderkishan Daphtary
WO O° 3B Wepad

Correct Answer:- Option-C

Question51:-A fruit seller is selling apple at the rate Rs.240/- per kilogram, with a
profit of 60%. What is the actual cost of one kilogram of apple?
BV BPTMOT ZewT B8 3ene yort Sve. 240 FTFQ 60% ©IEQ [0S BIBISTOT.

BN, 2,080 3eh0¢ 90 FeDT AT &S HFO?

A:-144
144

B:-150
150

C:-160
160

D:-180
180

Correct Answer:- Option-B

Question52:-A person who sells milk used to add water, and he is now having 60
litres of milk with 15% of water. How much milk to be added to make the water
content to 10% in the new mixture?

B0V B30 FEod AETF FeDRIFRO S0 [T B3 15% VedRR001 60 Oetv® HooRd

BR0DTN. BAT NFLBY ACOT 03IF> 10%7 Fedew 2F0 Hoew Fedre?

A:-15 litres
15 Debsot

B:-20 litres
20 e3¢

C:-25 litres
25 et

D:-30 litres



30 debsod

Correct Answer:- Option-D

Question53:-A particular work can be completed by 10 men or 15 women, in 24
days. In how many days the same work can be completed by a team of 4 men and
9 women?

20830 (‘\')as'§ 603§§b 10 RYTORTL ¥FFe 15 R0&Fadosd 24 DVNYY Leeor iipYrzIR0. 4

RYCORTO B0 9 B0&P0odT 0E) Tie %‘oﬁﬁgb cbq_'é{\) VMY Feoe MRYRIBIEI?

A:-24
24

B:-30
30

C:-36
36

D:-None of these
AR)NYY 03B 9

Correct Answer:- Option-A

Question54:-The third term and the tenth term of an arithmetic progression are 11
and 60 respectively. What is its 13th term?
©90571£d38 B 3030 SoueTRe e3:30° B0Z0 BIBALBY FoweN 11 F03> 60. T 13:e e335°

0300R)B07?

A:-74
74

B:-77
77

C:-81
81

D:-84
84

Correct Answer:- Option-C

Question55:-Mr. Amal Joseph took a loan of Rs. 4.25 lakhs for two years with simple
interest at the rate of 6.7% per annum. The total amount of interest that he has to
pay at the end of two years in 68% of his monthly salary. What is his monthly
salary?

Be. 020 BeedH® T[00 DoAET 6.7% BOBY 0¥ wB03R0BT S0 IRENYSTT 4.25 oF

Fo0BF) IriBrBe0BFT. 0B SR MY FAV0IY B[O HoBdWETHRE 2wt WBOD [eTD)
3T BPAT WD 68% NG, VT[T 30N Fowe F?

A:-Rs.83,750/-
Ss. 83,750/-

B:-Rs. 92,500/-
ow. 92,500/-

C:-Rs. 86,500/-



Ow. 86,500/-

D:-Rs. 91,650/-
Ow. 91,650/-

Correct Answer:- Option-A

Question56:-In a certain code FRIEND is written as ETHGMF. Which of the following
stands for LOVER in the same code?
w0630 ARER Beer® 8Q FRIEND 5> ETHGMF 2060 w80deeNd. 3¥NSrivQ aduesisy edse

EReBBY LOVER o5 362570307

A:-NPXFT
NPXFT

B:-KPUFQ
KPUFQ

C:-KMUCQ
KMUCQ

D:-KQUGQ
KQUGQ

Correct Answer:- Option-D
Question57:-Find the next number in the sequence 0, 4, 18, 48, 1007?
0, 4, 18, 48, 100, &x3-3303¢ SI000I Soa%cxbgo TOBIHLBOWD.

A:-148
148

B:-180
180

C:-184
184

D:-170
170

Correct Answer:- Option-B

Question58:-Geethu was asked how many books she had in her bag. She replied
that there were all fictions but six, all general knowledge books but three and all
novels but five. How many books had she in all?

Nedd B3 W VY DT> FTNIS D0By FedepoRR). Yo FoQT FFMLD SBT &80, YD

mmg ZRE F)FTND SBT [ouety [0Z1 DY T30 DEd BT B DB YUZDAFD. 9B
283 OO 5\)§5m”§b BRONZLD?

A:-14
14

B:-11
11

C:-7



D:-None of these
AR)NYY 03B 9
Correct Answer:- Option-C

Question59:-How many days will be there from the Republic Day of 2016 to the
Independence Day of 2016 (including both days)?
20160 mooagéfocgdaod 20160 m“gogé AVBIBN (OB aamfgp Ww¥RP0E03) ago A/

QOOZ:3?
A:-202
202

B:-203
203

C:-204
204

D:-201
201

Correct Answer:- Option-B

Question60:-In a family of five members, P is the sister of Q whose father is S. If the
wife of S is T whose only son R has two sisters, then identify how is Q related to T?
DG FBFC BB, P 20208 Q B FBATDAdRNGD, 930 3083 S 8Nged, S IBZT

SN, &[0 aﬁﬁ o R 900 Séfoecsaabgo BR0IZT, Q, T et Zo2) 0T aouocﬁgb
nROoL38Y :

A:-Mother
S0

B:-Sister
ABRCTO

C:-Son
=on

D:-Daughter
Soned

Correct Answer:- Option-D
Question61:-A place where animals are butchered is called
A:-arena
B:-abattoir
C:-menagerie
D:-tannery
Correct Answer:- Option-B
Question62:-When | arrived at the office, the meeting
A:-began



B:-begin
C:-had begun
D:-will begin
Correct Answer:- Option-C
Question63:-Which of the following is correctly spelt?
A:-laison
B:-layson
C:-liaison
D:-leison
Correct Answer:- Option-C
Question64:-  everyday improves my stamina
A:-running
B:-to run
C:-being run
D:-having run
Correct Answer:- Option-A
Question65:-They used to live in New York, ?
A:-aren't they?
B:-don't they?
C:-weren't they?
D:-didn't they?
Correct Answer:- Option-D
Question66:-What is the passive form of: Obey your parents?
A:-Let your parents be obeyed
B:-Parents must be obeyed
C:-Your parents ought to be obeyed
D:-Parents of yours should be obeyed
Correct Answer:- Option-A
Question67:-He always  his homework before going to bed.
A:-puts off
B:-puts up
C:-put out
D:-put away
Correct Answer:- Option-A
Question68:-When | was younger, Il wasa ___ swimmer than anyone in my school.
A:-good



B:-best

C:-better

D:-more good

Correct Answer:- Option-C

Question69:-Even though Tina was angry, she decided to

anything hurtful.

A:-break a leg

B:-jump the gun

C:-keep your chin up

D:-bite your tongue

Correct Answer:- Option-D
Question70:-The plural form of the word 'cactus' is

A:-Cactuses

B:-cactus

C:-cacti

D:-cactu

Correct Answer:- Option-C
Question71:-3¥NIJ)N¥Y 3003500 56555_33 noSo820.

A:-&gﬁogﬁ

B:-:)cgog&

C:-&%Sog§

D:-&gogé

Correct Answer:- Option-C

and not say

Question72:-'Dn, d>n' - '&d%ﬁdﬁmzﬁ?ﬁmﬂ (AL AL SR ﬁdéﬁb nosO8%0.

A:-33%

3
B:-d300%
C:-e3523
D:-2@

N

Correct Answer:- Option-A
Question73:-'e355003)' - VBT BRCH I 03093507

A:-nYF
B:-303

3
C:-Qwaodd



D:-g3od
Correct Answer:- Option-B
Question74:-'ToRPORIBICT' - % BT 3003590 é:)oﬁzscﬁodoﬁb nOCL80.
A:-3oxg)00RI®B + R0F
B:-ZoR)0RNDx + 90T
C:-5xg)00xR®) + BBH0S
D:-%0 + RHOO0R + % + R0 + F

Correct Answer:- Option-C
Question75:-3NIHNYY x003rec mgwgo nOCL3%0.

A7 IRGRITH Bz Ehds Fegod worSoss st earys

(o

B:-mz@»ngmm@o Smémgmﬂ m%)F\?Odo £90nS0030 FB0LWNIZT

f

c:-roacawoazgmago & 2598 030003 m%)ﬁodo £90nS0030 FB0LRIZS
D:-308 S008=0360 B,2308 2303NP0B ©oR030 9013030 T3NS
Q ) Q Y [\ P & o

Correct Answer:- Option-A
Question76:-'2007' - 88 IBE 30030E e 03TI)E0?

A:-53

Q

B:-=00

C:-QDZQ

D:-50&3

Correct Answer:- Option-D
Question77:-83 3$NIJ)NFY wyHon mwﬁb oSo820.
i. O, 83F
i. oo, Jor
i, eogy, OB@ON
V. RO, T
Ar-(i & i)
B:-(i & iii)
C:-(i &iv)
D:-(iii & iv)
Correct Answer:- Option-B
Question78:-8 3$NIHNYSD 303332@&366& QVTIBT T 0300R)EBO?



A:-&%0030
B:-Begz0
C:-300=3
D:-mog)

Correct Answer:- Option-C
Question79:-'Bo3R0 I0aBY' - B8 SoRMeds P 5CR0?

A:-m93 S50
B:-3@ &5030
C:-m203toredad
D:-3=0 &0

Correct Answer:- Option-A

Question80:-'Slow and Steady wins the race' - 8 MB=7981 305030 6§>z§cﬁ noss
030o)B0?

A:-SOBAZT Soene

B:-3, 3300637 22030 700
C:-3093 3 Wo¥035x0
D:-9080 7O % 39

Correct Answer:- Option-C

Question81:-Which of the undermentioned statement is wrong with regard to the
jurisdiction of Excise inspector under Abkari Act?
i. Excise inspector Appointed at Excise checkpost has jurisdiction through out the
range in

which the check post is situated.
ii. The Excise Inspector appointed at Excise Circle office has jurisdiction through
out the

taluk in which the Circle Office is situated.
iii. The Excise Inspector of Excise Enforcement and Anti Narcotic Special Squad is
having

Jurisdiction through out the revenue district in which the office situated.
€050 F20LT0 B0 )T ADEFTT HTT a‘azéﬁ 20W0RAT 03 B8 FYNT 0300

BCYTO300 SN

i B0 ¢85° Bpex? BY BeRBrRoRCLS WrTD ADETETL w5 FPCRE, J0OI aawa%ngos
£9Q)T0 mzé MO&QDG.

ii. 20590 3 TeJeDoLY BeR0TTLPOBTIS 2)TD VDCTFOL F3 WPTD YOO FoL3WIDO3
e9Q)T0 mﬁé BO0RTOZAT.

iii. €20590 2590 P 3083 ToBsce €35° TR TE® © BRITID VOEFTTL FeIeDd YTO[ F0w0d



zsgaimgoé méab mzéngQJ afao&doagd.

A:-i only
| 2098,

B:-i, ii & iii
i, i & iii

C:-ii & iii only
il & iii &098,

D:-None of the above
R0eDT 000D S 9L

Correct Answer:- Option-A

Question82:-Land holders and others has to give information in connection with any
manufacture of liquor or intoxicating drugs, not licensed under the act to -

i. Magistrate

ii. Abkari Officer

iii. Officer of Land Revenue

iv. Narcotic Control Bureau

0 SBORYWITTL F0B) YSVTY FTFVW TT®N BRODYT 0350c3)T3e :ocg LI ST ggmf

303500313 B0200AT 03 m&sojogo QB U3eBO.
i ngigeés‘

ii. €RVTO 9RTO

iii. 230 Towa0dd 9QTO

iV. DaBsCE 3T Fokde cer® %)Jadrae

A:-Only i & iv
i & iv S098

B:-Only i &ii
i & il B098

C:-All the above
R0 dYBf

D:-Only i, ii and iii
i, i 03 iii S0

Correct Answer:- Option-D

Question83:-The quantam of fine that can be imposed by the excise inspector to an
offender who has committed an offence of smoking in public place under the COTPA
Act shall not exceed -

i. Rs.100/-

ii. Rs.200/-

iii. Rs. 400/-

iv. Rs. 500/-

COTPA 320206303 98030 Fos3¢ AT g%g? BRTOTID IJBEID eaacmjdﬁb ROBW e9BTINN



920520 QDETFT DPRITBOTE T 0@ ) §b QOCT2INTRO?
i. Tw. 100/-
ii. Ow. 200/-
iii. Ss. 400/-
iv. Bs. 500/

A:-i and ii only
i &0 ii B3

B:-All the above

S0edT YRS
C:-i only
i 3oog
D:-ii only
i 3998,

Correct Answer:- Option-D

Question84:-The immediate official superior of Excise Inspector in the heirarchial
row prevailing in Excise Department is-

i.  Circle Inspector of Excise

ii. Manager of Excise Division Office

iii. Superintendent of EHQ

iv. Administrative officer of EHQ

20520 RU2330008) 25990IP00E FINPTVINS ToIVY @ITD ADEFTT e VTS LT

. eR)TD FTE O QXS ﬁgos

ii. e20%0 Jond FeJedady §§m@56’do
iii. EHQ ® R/x3doédotdoes®

iv. EHQR @93 099500

A:-iv only
iv 3098

B:-i, ii and iii
i, i & i

C:-ii and iv only
i Bo0 iv 3098

D:-All the above
30093 DY

Correct Answer:- Option-B

Question85:-Which of the following statements are true in the case of Abkari
Inspectors under Abkari Act?
i. Abkari Inspector means an officer appointed under 4(d) of Abkari Act.
ii. The Excise Inspector appointed in the Range offices shall have all the powers of
Abkari

Inspector as per Abkari Act.



iii. All the officers in the Excise Department of and above the rank of Excise
Inspectors were

vested with the powers of Abkari Inspector.
0TD Fo0TOBOIY RITED YR FFO° MY ARIBY T8 FYNE 03503 BeYBTiEd FO0IINGS?

i. €TI0 ‘aafv ﬁgc‘; DOBT )T Fo0WO 4(&B) B0LY BeSr5rie0E WRED SOTBTE
ii. Jeozs® se3edNYY RBeTrR0E WBd ADETETL WTD 520303 BToT WITD ADCTET
DY @@@dmfgo
BH0RCOZAT
iii. %0520 QUPa3030PR SO TD VDeFET  Feedodd [0edT HYo RTHONYIT e0TO
Wels:te @@msgp
WNEIIRIARE A

A:-i and ii only
i S ii only

B:-All the above
S0edT YRS

C:-ii and iii only
i S0 iii S5

D:-None of the above
S0edT 03B Q)

Correct Answer:- Option-B

Question86:-"Abkari Inspectors were appointed by excercising the powers under
section 4(d) of Abkari Act and they can perform the acts and duties entrusted by
the Abkari Act". Which of the undermentioned sections corresponds to the duties
and powers described in section 4(d)?

" e0B0 To0DTWOI I 4(B) ©BOLY @@F&dﬁﬁb WIS BORVT e0T0 AR ﬁgo‘ mfgo

DRVRORNG P> 950 T F2OVTOT H&ABABORE T2 TIRD S0P FIFFriwEH
DB LRIBIBY". FYNT 03503 Dzgertsy) Nzgert 4(B) IQ D[V BIFFried P TNV
9RONEAONCOZTS?

A:-Section 40 to 52
Qnt 40 dow 52

B:-Section 40 to 53 (both inclusive)
Ant 40 Dow 53 (TBES Ze0T03)

C:-Section 40 to 53 (both exclusive)
AN 40 Do 53 (OB @%@ﬁ)

D:-None of the above
R0 0300FYBS 9L

Correct Answer:- Option-B

Question87:-The Powers of Excise Inspectors extends to perform all the duties in
respect of Issue of special permits under section 11 of Abkari Act. Here section 11
deals with -



e20%0 Fo0TOD FF* 110 ©BoDY DBeR SCHIBANY ISV F020PAF0Z Do FIEFNTH
VBE ST 20T0 ADEFET ©BTATTID HFORFS. AY FF* 11 SSIBORZRO -

A:-Import Permit
30T BTN

B:-Transport permit
2o0nR JT=RN

C:-Transit Permit
39 e3¢ HTDI™N
~N

D:-None of the above
R0eDT 0d0oFBS 9L

Correct Answer:- Option-B
Question88:-Transport under Abkari Act means and includes -
e0T0 FT20TW ¥B0IY FONR DOFT DIV FOB) (RO WIRPOBTOZT -

A:-To move from one place to another within the state
oa%sc&faem 20630 F¥ROT JRR0BY F¥E oTen

B:-To move from one place in a state to another place in that state or to any
other state through the territory of the state of Kerala
20830 oazgcs 20830 ge;’aod es oazgd 'aaifaqom g@%& PN FCOY oazgd SVBB ST 23ed

odo)re oazgﬁéd@éw

C:-To bring in to the State
oag%édoo

D:-None of the above
R0V 03B S Q)

Correct Answer:- Option-A

Question89:-Which section of the Abkari Act authorizes officers to inspect licensed
premises?
€050 TOOTWOID 03I I BT DR JWE 8)5céaiﬁ@§§o 2030 vRTONYR 9dT0

QCBOZTS?

A:-40
40

B:-31
31

C:-32
32

D:-35
35

Correct Answer:- Option-C

Question90:-Which officer of the Excise Department duly appointed to control the
Brewery?



Qd@odoﬁb M03OQ3REN RITIO Q3030 0dres3 @@Faaodoib 200359N BeorNS?

A:-Circle Inspector of Excise
0 BO0D FTEOF Q° FFO®

B:-Surveying Officer
[3CE 00N 9T

C:-Distillery Officer
B0 0RTD

D:-Assistant Excise Commissioner
ABI0IT RITIO €30300TT

Correct Answer:- Option-B

Question91:-Following officers who are authorized to inspect the Wineries
a;aibﬁe@o BOCZROV VRTIT BRHOWTVS & IYNT QTN

A:-All officers of the Excise Department
e)T0 QO30 DY RPTOTILD

B:-All officers of the Excise Department of and above the rank of Excise
Inspectors
20300 QU303 HYo WPTONL S eTD ADEFTT FeesNod ézszs*\swdo

C:-All officers of the Central Excise
30RO RITHO QLA HYo 9RTIONLD

D:-All officers of the Police Department of and above the rank of Sub
Inspectors
22)° ¢ FFO® e Zeedodd [oPd @dgos £z?5\5 e 9300 HYo VPTIONL

Correct Answer:- Option-B
Question92:-Which of the following statements is correct about Abkari Officer?
050 RTIO0L Wi 8% FYNT advem BePFLDL DA3TNI?

A:-The Commissioner of Excise or any officer or other person lawfully
appointed or invested with powers under section 4 or 5 of the Abkari Act 1 of 1077
RITOD TAIRBO® P9 0309 TC PT0 90 1077 T 0390 50T 1 T 3gn° 4 9ge 50

BODLY FVRABRG DN BeRTRPE WG WRTIVBWRORT BARE IPRE 930 ?ﬁ

B:-An officer appointed under Section 5 A of the Abkari Act 1 of 1077
1077 T 0500 500008 10 330° 5 89B030Q SedsrinoE 0dsed

C:-The Officer appointed by the Government under section 3(4) of the Abkari
Act 1 of 1077.
1077 T 0500 500008 10 330° 3(4) B0 35e0R0T Se0TH0E QT

D:-None of the above
S0edT 03RIEBS Q)

Correct Answer:- Option-A

Question93:-Under which section of the Abkari Act, Abkari Inspector may summon
persons suspected of offenses against Abkari Laws?



€050 Fo0TO3 0dIeT BT © B0, RITD FoBABONY ::)dog 900N 3033 ?_%omfgo
e9R)TO

'Qafvﬁgo"' O TAY 0 ANYS
A:-50
50
B:-46
46
C:-51
51
D:-48
48

Correct Answer:- Option-D

Question94:-Who among the following is not an Abkari Officer?
8% 3YNTSTES 035980 92050 9HTOAY?

A:-Sub Inspector of Police
RfCAT® T20¢ ‘aafvﬁgos

B:-Drug Inspector
B Q° HFO°
14 ~N ed

C:-Excise Inspector
0TD 9’ BTO®

D:-Deputy Collector of the Revenue Department
TOWI0J Y30 HUR 5(’330‘

Correct Answer:- Option-B

Question95:-Who is designated as the Head of the District Unit of Excise
Intelligence & Investigation Bureau?
OALRION VA o IO VRIS L) %)Jadfaecﬁ RO PEITE :w%)goaﬂ odmdga BeRNT?

A:-Excise Inspector
eRITIO ADCTT

B:-Assistant Excise Commissioner
AB03T eRIT0 3030030

C:-Intelligence Officer
MUE3e30 RT0

D:-Deputy Excise Commissioner
YU eR)TDD €30300TCO

Correct Answer:- Option-A

Question96:-Which of the following statements correctly describes the Excise

Enforcement & Anti Narcotic Special Squad?

i. Detect and take legal action against the collection, marketing, trafficking and
consumption of illegal liquor / drugs in the district.

ii. Investigate NDPS cases and take further action.



iii. The Deputy Commissioner of Excise serves as the Head of the office of Excise
Enforcement & Anti Narcotic Special Squad.
iv. Register the detected Abkari cases in the concerned Range Offices.

B3 BYNT 035033 FBeFFOd BTD 259D S0P BNGT Z BeeY DBe TEE® g KON
DIOROZTS?
I 28gJoddg 3R> S0g / S0ewT SPorie Jopiwes, SNBee3on?, 3Y Foreess S Jeadobgh S
%28, 30> BE00 VG TR FRI[TO riegOI0.
ii. NDPS g30enego 3023 S8 303 [00008 3m0350 ridogesdasy
iii. €200 U@ ©030T0Y RITD 250D B0 3083 TBREF E3T° TeiedOL DFeR FE® Teiedodd
S0PHF0N Bees

39033
iv. 3030 )50 FF0eriedsh 30w opses Seoss® escdNYY BComw0oROTYT

A:-All of the above
S0eIT YRS

B:-i and ii
i 203 i

C:-i, iiand iv
i, i S0 iv

Correct Answer:- Option-C

Question97:-Which section of the NDPS Act exempts addicts who volunteer for
treatment from prosecution?
NDPS 520305303 03003 33 z&%:inaﬁ gojooﬁcdﬁoaﬁdos gs&ﬁ@ﬁ TOTAT TRODOW W03

NCBOZT.

A:-64A
64A

B:-30
30

C:-27
27

D:-64
64

Correct Answer:- Option-A

Question98:-The name of the Anti-drug awareness drive of Kerala State Lahari
Varjana Mission formed in 2016.
2016 09 Cwex)teoE 0 Oo% OB IWE® RV O I0RT 9? DBRER 230l N3° B

DACO

A:-Kaval



N OM

B:-Karuthal
[ oN AIIM

C:-Kavacham
IV A RN

D:-Vimukthi
AL

Correct Answer:- Option-D

Question99:-Whoever knowingly or intentionally conceals, destroys or alters or
intentionally or knowingly causes another to conceal, destroy, or alter any
computer source code used for a computer, computer programme, computer
system or computer network, when the computer source code is required to be
kept or maintained by law for the time being in force, shall be punishable with
imprisonment upto

ﬁoo—-’g%hso"', 60@%&30‘ RPCIO, 60@%&30‘ ?ogzﬁse [Blamp) 60@%&30‘ Ne3® I R WYIUIT adve)Be

60;-‘3;%&306 RSO FRCTEE e9§b S0TEILICD, TIBIBIC TN T D0ZED 60@;%&306 SO
ifaezsﬁb QO eaﬁrg’&)domﬁ odoade mgeéﬁﬁwtﬁmﬁ lamn) engeéo—-’gfam'ﬁmﬂ ROTR0B 0V,
VO3 BRCD 9T WTW DO 93 wgeéaﬁdrﬁmﬁ B5EOZITRC 9FON O3
2500030P00S FoBAAT BoRwT ST oo 8godeodrt BomeodrmeNcoges

A:-one year, with fine which may extend up to one lakh rupees, or with both.
WOBY JIRE, WOBY ©F TRTIOWVNYITI IZDIWTITIE BWOB, 9GP HOET 2R3t

B:-two years, with fine which may extend up to one lakh rupees, or with both
NOBY IRET, 2,080 ©F TRTIOVNYITIT DFVTVBITIT BB G0 VBT 231

C:-three years, or with fine which may extend up to two lakh rupees, or with
both
BoAT0 SRENYD FD HOBO VT TRTIOVNYSTIT IFVRVBITIE TOB 9GP0 0BT 31t

D:-four years, with fine which may extend up to two lakh rupees, or with both
DOEL SHETIRD, HOREY OF CLRDOVNTSTR IFDRITITIE BB G2 SOBEC 2R3N

Correct Answer:- Option-C

Question100:-What is the punishment for dishonestly receiving stolen computer
resource or communication device?
393 130 60@3}306 30521/9@ LI FORHBM mc,daisQ) FHIRIEFTIN zgsaﬁe» DO 837

A:-Imprisonment of for a term which may extend to three years or with fine
which may extend to rupees one lakh or with both.
BoeT0 SRENYSTN DZORVBOTT TP ZTD0R WP WORY VT TUATIODNYSTI

DRORITBOTNGE [ORB 9 wwﬁm QR BT
B:-Imprisonment of either description for a term which may extend to two

years or with fine which may extend to rupees one lakh or with both.
NOBY SRENYSTT} QROFVBOTIT ISP DSCF03 ITHOR PR 20T ©F CSTIOVNYITN

DRORITBOTNE [OR 9 cbdzéﬁifa MIARAL AN



C:-Imprisonment of either description for a term which may extend to one year
or with fine which may extend to rupees two lakh or with both.
WOBY IREWITN DRVRVTPOTIE TP DSCEI030 TF0R WGP OB ©F TRHIOVNYITN

DRORITBOTNE [ORB 9 wcsg,fa NIARAL VAN

D:-Imprisonment of either description for a term which may extend to six
months or with fine which may extend to rupees one lakh or with both.

300 30MYITN DRV BOTIT BP0 ITDR WP WORY ©F TRHIOWNYITN DRORNBITIT
BB OG0 EP DDIVTIE)

Correct Answer:- Option-A



